spare parts

No Spare parts qty unit |notes
- Standard parts
1 spectrophotometer
1.1 HK-ICP6800S 1 set |Line grating 4320L/mm
1.2 Pre sampling system
software
2.1 [ICP analysis software]V1.0 1 set |CD with latest version
2.2 Warranty card 1 set |English
2.3 Quality card 1 set |English
2.4 disc 1 |piece
3 accessories
3.1 Cable 1 line [size 8Pin X L3M, RIJ-45
Plastic drum Volume 5L plastic: HDPE
3.2 1 |piece [semi-transparency, white color with
white cover, deltoid
Argon Gas Reduction In:0~25MPa,Out:0~0.4MPa
3.3 2 |piece| innerG5/8 outter
M16x1.5RHM152IN-40
34 PU tube 30 |[meter|10x6.5%1.75mm
3.5 PU tube 10 |meter|6x4x1mm
3.6 PVC transparent tube 1 |meterl8Bmmx6mm
3.7 plug 2 |piece RVVZ-3P,JL301F,227IEC53(RVV),3
00/500V,3x1.0mm2,10A250V
3.8 Ground copper braided wire 15 | line
3.9 Brass tube 1 |piece [Size 48, thin 3, L:500
3.10 Filter Cartridge 4 |piece outter:60mm, inner:28mm,
L:125mm,precisy:5um
3.11 Torch pipe 2 |piece|SR-T-1.2-P
312 Double cylinder fog chamber 5 |
piece
3.13 atomizer 1 |piece |ARG-07-UC2
314 Inner tube 1 meterTYGON-R3603’>-AAC00001
(D=2.38,d=0.8) mm
3.15 Peristaltic pump injector tube line |®1.52x0.86 L 40cm tygon-R-3607 (2S
3.16 Fuse wire in tube shape line |10A,250V,glass tube 6x30mm
3.17 Cylindric atomizer 2 |piece
3.18 Silicone tube 0.3 |meter|lnner 2mm,outer 4mm, s:55
3.19 AR filter 2 |piece [ZCJH-2*6 INNER 6-2
3.20 AR filter 4 |piece|ZC-1/16*3/32 INNER 1.6-2.4
3.21 screw (GB/T 823-1988) 6 |piece|M4x6
3.22 Flat gasket (GB/T 97.1-2002) 6 |piece|M4
3.23 Ball clamp 1 P | LO0091181
3.24 O shape seal ring 2 P |32.5x3.55




spare parts

3.25 O shape seal ring 4 P |5.6x1.8
3.26 connector 2 P D6
3.27 Teflon tape 1 roll |[26mmx20m,thin:0.1~0.2mm
3.28 Self sealing bag 250X350 3 p [Size 250X350
3.29 Spray atomizing chamber 1 | Piece
3.30 O shape seal ring 2 Piece |8x1.8
3.31 O shape seal ring 2 Piece [5.6x1.8
3.32 Chamber connection plug 1 | Piece
3.33 O shape seal ring 2 Piece (3.5x1 FPM
4 Standard instrument
41 Cooling cable 1 set
4.2 Stable light source 1 set
5 Packing material
5.1 HK-ICP6800S wood carton 1 set
5.2 Hexagon bolt 20 | set |M12x130
53 Hexagon bolt 12 | set [M12x100




